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ANTHROPOLOGY
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Time : 3 Hours
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Full Marks : 250
gd Q°ql : 980

The figures in the right-hand margin indicate marks.
gga9a Q1216 966 geNe g9 Ale 4IIaE |

Candidates should attempt any 10 (ten) questions of
GROUP—A with word limit of 250 words and should
attempt any 5 (five) questions from GROUP—B
with word limit of 300 words.

AQIFIE1FI69 GROUP—A @ 696@161d @0% gga 28a 980 &R
C12I6Q 99° GROUP—B Q) 646@1613 8T g9 @aQ
Moo & F1I6a AT QY6R |

GROUP—A

1. What do you mean by anthropology and what is its scope? How is

anthropology related to economics, psychology and medical sciences?
Discuss. 6+9=15

AIRQIRIP AR6M Q67 @€ QE I9° ILIQ RAR @67 LANT, AERIIRIF 9Q°
5R213RIe QTG AINIIRIG FAE A°ARS? AEAIGR AR |

. How many different types of primate locomotion are there? What is

an arboreal adaptation? Briefly discuss the changes in the skull
due to the assumption of erect posture. 2+3+10=15

6R69 JRIQ JIREAS ERIERIEFIAR 2F? QAAANIY (Arboreal) AFYRT €17
da 30a 2gaIe 629 910 dRLRRgRe FVAER A°CTUER EIERIFR! !9 |

. What is Neo-Darwinism? How does it differ from Darwinism? Write

a note on mosaic evolution. 4+4+47=15
R0R-FAAD V¢ ¥Q° 1@l FAd ARFRAIQ 0lg §a? IR} AR
QU6Q IR TAEN 6nd |
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10.

11.

What do you understand by human race and racism? Can you discuss
the influence of heredity and environment on determining racial
traits? 5+5+5=15

AIRRRIE 9e° R AB6R @8 Q€7 RIFS F649] FEIR FAUCR Q6A
QFIRFA I° IRERIR GRIQ A°AFER AT *AAIRS @2

Write notes on Down syndrome and Rh blood groups. 8+7=15
elae J6gIa 99° AR 9 9L (Down syndrome and Rh blood) g Q068

o8 6nd |

What is applied human genetics? Could you briefly discuss how
DNA technology is used to prevent and cure diseases? 5+10=15

JeAITIR IR 6205 @47 caltg 9F6al @Al ¥9° ZICAISH FARIIR
DNA 696QI6RI7 306 920 249, 6Q AUNER Q6F ACTUCR ZIERSR!
Q018 @7

. Define family and explain its significance in human society. What

are dowry and bride price? 7+4+4=15
AR AR QI FQ 9L° FIRRY AAINER IR 7127 RN | 64l
NQ° QA MY @617

What are the differences between religion and magic? Briefly
discuss the function of religion. 8+7=15

AF 6 QIQ FRIER TP 6?2 AR AIDIFVAER ACVAECR 2RISR K4 |

What is prehistory and why is it important? What are the different
periods of prehistory? Write a note on the Palaeolithic culture.
4+3+8=15

JIRaceId @'¢ 99° 99l QIR@ qQQYd? JIRededa 38r A @42
AIERNYR A°YE ATCR 9@ TSN 6RS |

What are the basic characteristics of culture? Can you explain the
classical theory of evolution? 7+8=15

Ao 6ARR G969 @67 Q67 IRRA FIYIA OxR I FRAIFS @7

What is social structure? Can you provide an explanation of Radcliffe-
Brown’s structural-functional theory and its key concepts?
3+12=15

AFIFS YT @617 Q67 ERRFT-QIRAR FORPR-RILYINR 9] I QIR
ded I04Ig@ea 9@ MY 2818 @7
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12,

13.

14.

15.

16.

1 I 8

What is ecological anthropology? What is post-modernism? Discuss
the main concepts and ideas related to the post-modernism theory.
5+3+7=15

Q864 2RIAG QEYIHIR @'d? JQRRT-ZRIFIC V8?7 2RFIC Qa1
ARIB A2 RGO M ARG B N0 AUER 2RISR K |

GROUP—B

What is the cultural ecology theory developed by Julian Steward?
How can anthropology contribute to sustainable development?
Discuss. 6+14=20

eRaIR §QI9e QIal AR89 YT AREIH 0f FE? IR IR FRIG6R
216g16dI6AIR AR 2R 6oa IRR?

What are the basic techniques and methods used by anthropology
to collect field data? Discuss briefly the (a) observation method, (b)
case study method and (c) PRA. 5+15=20

698 Q2 Q°g2 dIR ZICICACNIR QIR L0 6A1AR 6F1aF Ie° a8dgee
@87 (a) AYEQRE ARG, (b) VG 2R ARG, (c) T2INY (PRA) ST96R
Q°6FUER AIERNSR K9 |

What do you mean by human genetics? What is pedigree study and
why is it important in human genetics? Briefly explain the
consequences of consanguineous marriages. 5+8+7=20

AIRQ 6RERTY @26M Q6F Q¢ QE? QEINRT FUAR @6 9L° Y@l AR
6R69096R AP JgQeYd? A60Ig FQIeq ARIAQ A°CTACH I /9 |

What is autosomal recessive and dominant inheritance? Give
examples of sex-limited and sex-linked inheritance. Can you explain
what causes thalassemia and albinism and what preventive
measures can be taken to avoid these conditions? 4+2+14=20

Z6S16QIFIR REATR 99° GRIIY AR @87 AF-AIFTS Y° A-A°6AFS
QRN RIS T2 | AINEAFI IS° IRIRFAR FIREYETRQ QEE1 QIS
@RAIAe @ 9Q° 9@ QIR YeIRQl IR 699 YTEAUR Yedl §od
RAARANA?

What is ethnicity? Write the reasons for ethnic crisis and conflict.
What are the challenges posed by ethnicity for the Nation-State of
India? 10+10=20

@10 @8 ¥9° RITTC AFE 99° QPR QG 6A? AAPER AL-AINY IR IS
QR 689 2IPIS ER?
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18. What do you mean by human growth and development? How do| Candidate
nutrition, environment and socio-economic factors affect human| mustnot
growth and development? Discuss. 5+15=20| writeon

AIRS ARQE B Q16 FL6R Q67 94 2¢? 9], ARERE 1L° AAIRR-2e6FGq | this margin.
REGER N ARQYE B ARG JNSE @RI, RS @R |
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